

# County Distribution Detail Report through 08/02/2019

#### Aurora

| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 6/2019           | 1,218         | 1,883          | 13            | 3,114       | \$3,892.50  | \$105.95  | \$3,786.55    | 0.70              | \$2,650.59    |
|                  |               |                |               |             |             |           | Entity Tota   | ıl:               | \$2,650.59    |
|                  |               |                |               |             |             |           | Adjustmen     | t:                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | unt:              | \$2,650.59    |
| Beadle           |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 3,933         | 10,011         | 340           | 14,284      | \$17,855.00 | \$376.57  | \$17,478.43   | 0.70              | \$12,234.90   |
|                  |               |                |               |             |             |           | Entity Tota   | l:                | \$12,234.90   |
|                  |               |                |               |             |             |           | Adjustmen     | t:                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | unt:              | \$12,234.90   |
| Bennett          |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 924           | 1,043          | 3             | 1,970       | \$2,462.50  | \$57.33   | \$2,405.17    | 0.70              | \$1,683.62    |
|                  |               |                |               |             |             |           | Entity Tota   | ıl:               | \$1,683.62    |
|                  |               |                |               |             |             |           | Adjustmen     | t:                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | unt:              | \$1,683.62    |
| Bon Homme        |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 2,109         | 3,761          | 12            | 5,882       | \$7,352.50  | \$148.85  | \$7,203.65    | 0.70              | \$5,042.56    |
|                  |               |                |               |             |             |           | Entity Tota   | ıl:               | \$5,042.56    |
|                  |               |                |               |             |             |           | Adjustmen     | t:                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | unt:              | \$5,042.56    |

# **Brookings**

| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 6/2019           | 9,500         | 20,025         | 1,589         | 31,114      | \$38,892.50 | \$817.51  | \$38,074.99   | 0.70              | \$26,652.49   |
|                  |               |                |               |             |             |           | Entity Tota   | ıl:               | \$26,652.49   |
|                  |               |                |               |             |             |           | Adjustmen     | t:                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | unt:              | \$26,652.49   |
| Brown            |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 10,166        | 25,470         | 278           | 35,914      | \$44,892.50 | \$933.45  | \$43,959.05   | 0.70              | \$30,771.34   |
|                  |               |                |               |             |             |           | Entity Tota   | ıl:               | \$30,771.34   |
|                  |               |                |               |             |             |           | Adjustmen     | t:                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amor    | unt:              | \$30,771.34   |
| Brule            |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 2,334         | 3,557          | 7             | 5,898       | \$7,372.50  | \$151.08  | \$7,221.42    | 0.70              | \$5,054.99    |
|                  |               |                |               |             |             |           | Entity Tota   | ıl:               | \$5,054.99    |
|                  |               |                |               |             |             |           | Adjustmen     | t:                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | unt:              | \$5,054.99    |
| Buffalo          |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 556           | 438            | 2             | 996         | \$1,245.00  | \$25.29   | \$1,219.71    | 0.70              | \$853.80      |
|                  |               |                |               |             |             |           | Entity Tota   | ıl:               | \$853.80      |
|                  |               |                |               |             |             |           | Adjustmen     | t:                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amor    | unt:              | \$853.80      |
| Butte            |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 2,544         | 6,201          | 33            | 8,778       | \$10,972.50 | \$242.85  | \$10,729.65   | 0.70              | \$7,510.76    |
|                  |               |                |               |             |             |           | Entity Tota   | ıl:               | \$7,510.76    |
|                  |               |                |               |             |             |           | Adjustmen     | t:                | \$0.00        |

| Total Alliount. \$7,510.70 | Total Amount: | \$7,510.76 |
|----------------------------|---------------|------------|
|----------------------------|---------------|------------|

| Reporting Period     | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
|----------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 6/2019               | 745           | 1,381          | 7             | 2,133       | \$2,666.25  | \$53.39   | \$2,612.86    | 0.70              | \$1,829.00    |
|                      |               |                |               |             |             |           | Entity Tota   | l:                | \$1,829.00    |
|                      |               |                |               |             |             |           | Adjustmen     | t:                | \$0.00        |
|                      |               |                |               |             |             |           | Total Amo     | unt:              | \$1,829.00    |
| Charles Mix          |               |                |               |             |             |           |               |                   |               |
| Reporting Period     | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019               | 2,765         | 5,193          | 18            | 7,976       | \$9,970.00  | \$203.32  | \$9,766.68    | 0.70              | \$6,836.68    |
|                      |               |                |               |             |             |           | Entity Tota   | l:                | \$6,836.68    |
|                      |               |                |               |             |             |           | Adjustmen     | t:                | \$0.00        |
|                      |               |                |               |             |             |           | Total Amor    | unt:              | \$6,836.68    |
| City of Box Elder, M | eade Cc       |                |               |             |             |           |               |                   |               |
| Reporting Period     | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019               | 77            | 2,367          | 1             | 2,445       | \$3,056.25  | \$69.76   | \$2,986.49    | 0.70              | \$2,090.54    |
|                      |               |                |               |             |             |           | Entity Tota   | l:                | \$2,090.54    |
|                      |               |                |               |             |             |           | Adjustmen     | t:                | \$0.00        |
|                      |               |                |               |             |             |           | Total Amor    | unt:              | \$2,090.54    |
| City of North Sioux  | City, Un      |                |               |             |             |           |               |                   |               |
| Reporting Period     | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019               | 983           | 2,754          | 114           | 3,851       | \$4,813.75  | \$136.07  | \$4,677.68    | 0.70              | \$3,274.38    |
|                      |               |                |               |             |             |           | Entity Tota   | l:                | \$3,274.38    |
|                      |               |                |               |             |             |           | Adjustmen     | t:                | \$0.00        |
|                      |               |                |               |             |             |           | Total Amor    | unt:              | \$3,274.38    |
| City of Sioux Falls, | Lincoln       |                |               |             |             |           |               |                   |               |
| Reporting Period     | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 5/2019               | 0             | 0              | 8             | 8           | \$10.00     | \$-14.19  | \$24.19       | 0.70              | \$16.93       |
| 6/2019               | 4,533         | 23,559         | 1,359         | 29,451      | \$36,813.75 | \$780.70  | \$36,033.05   | 0.70              | \$25,223.14   |

|                  |               |                |               |             |             |           | Adjustmen     | t:                | \$0.00        |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
|                  |               |                |               |             |             |           | Total Amou    | ınt:              | \$25,240.07   |
| Clark            |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 1,396         | 2,202          | 136           | 3,734       | \$4,667.50  | \$97.35   | \$4,570.15    | 0.70              | \$3,199.11    |
|                  |               |                |               |             |             |           | Entity Total  | l:                | \$3,199.11    |
|                  |               |                |               |             |             |           | Adjustmen     | t:                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | ınt:              | \$3,199.11    |
| Clay             |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 1,740         | 7,226          | 117           | 9,083       | \$11,353.75 | \$248.46  | \$11,105.29   | 0.70              | \$7,773.70    |
|                  |               |                |               |             |             |           | Entity Total  | l:                | \$7,773.70    |
|                  |               |                |               |             |             |           | Adjustmen     | t:                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | ınt:              | \$7,773.70    |
| Codington        |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 7,664         | 18,233         | 871           | 26,768      | \$33,460.00 | \$721.87  | \$32,738.13   | 0.70              | \$22,916.69   |
|                  |               |                |               |             |             |           | Entity Total  | l:                | \$22,916.69   |
|                  |               |                |               |             |             |           | Adjustmen     | t:                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | ınt:              | \$22,916.69   |
| Corson           |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 1,238         | 635            | 84            | 1,957       | \$2,446.25  | \$50.42   | \$2,395.83    | 0.70              | \$1,677.08    |
|                  |               |                |               |             |             |           | Entity Total  | l:                | \$1,677.08    |
|                  |               |                |               |             |             |           | Adjustmen     | t:                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | ınt:              | \$1,677.08    |
| Custer           |               |                |               |             |             |           |               |                   |               |

\$25,240.07

**Entity Total:** 

| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 6/2019           | 3,664         | 5,311          | 35            | 9,010       | \$11,262.50 | \$251.41  | \$11,011.09   | 0.70              | \$7,707.76    |
|                  |               |                |               |             |             |           | Entity Total  | <b>:</b>          | \$7,707.76    |
|                  |               |                |               |             |             |           | Adjustment    | ::                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | ınt:              | \$7,707.76    |
| Davison          |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 5,216         | 13,505         | 173           | 18,894      | \$23,617.50 | \$486.95  | \$23,130.55   | 0.70              | \$16,191.39   |
|                  |               |                |               |             |             |           | Entity Total  | :                 | \$16,191.39   |
|                  |               |                |               |             |             |           | Adjustment    | ::                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | int:              | \$16,191.39   |
| Day              |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 2,245         | 3,478          | 10            | 5,733       | \$7,166.25  | \$145.17  | \$7,021.08    | 0.70              | \$4,914.76    |
|                  |               |                |               |             |             |           | Entity Total  | l:                | \$4,914.76    |
|                  |               |                |               |             |             |           | Adjustment    | t:                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | ınt:              | \$4,914.76    |
| Deuel            |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 1,852         | 2,871          | 14            | 4,737       | \$5,921.25  | \$126.36  | \$5,794.89    | 0.70              | \$4,056.42    |
|                  |               |                |               |             |             |           | Entity Total  | :                 | \$4,056.42    |
|                  |               |                |               |             |             |           | Adjustment    | <b>::</b>         | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | ınt:              | \$4,056.42    |
| Douglas          |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 1,307         | 2,146          | 7             | 3,460       | \$4,325.00  | \$89.57   | \$4,235.43    | 0.70              | \$2,964.80    |
|                  |               |                |               |             |             |           | Entity Total  | :                 | \$2,964.80    |
|                  |               |                |               |             |             |           | Adjustment    | t:                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | int:              | \$2,964.80    |
|                  |               |                |               |             |             |           |               |                   |               |

# **Edmunds**

| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 6/2019           | 1,328         | 2,839          | 20            | 4,187       | \$5,233.75  | \$106.51  | \$5,127.24    | 0.70              | \$3,589.07    |
|                  |               |                |               |             |             |           | Entity Total  | l:                | \$3,589.07    |
|                  |               |                |               |             |             |           | Adjustmen     | t:                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | ınt:              | \$3,589.07    |
| Fall River       |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 3,469         | 4,536          | 16            | 8,021       | \$10,026.25 | \$206.63  | \$9,819.62    | 0.70              | \$6,873.73    |
|                  |               |                |               |             |             |           | Entity Total  | l:                | \$6,873.73    |
|                  |               |                |               |             |             |           | Adjustmen     | t:                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | ınt:              | \$6,873.73    |
| Faulk            |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 790           | 1,419          | 13            | 2,222       | \$2,777.50  | \$56.01   | \$2,721.49    | 0.70              | \$1,905.04    |
|                  |               |                |               |             |             |           | Entity Total  | l:                | \$1,905.04    |
|                  |               |                |               |             |             |           | Adjustmen     | t:                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | ınt:              | \$1,905.04    |
| Grant            |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 2,233         | 5,140          | 27            | 7,400       | \$9,250.00  | \$189.02  | \$9,060.98    | 0.70              | \$6,342.69    |
|                  |               |                |               |             |             |           | Entity Total  | l:                | \$6,342.69    |
|                  |               |                |               |             |             |           | Adjustmen     | t:                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | ınt:              | \$6,342.69    |
| Gregory          |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 1,914         | 3,387          | 17            | 5,318       | \$6,647.50  | \$145.16  | \$6,502.34    | 0.70              | \$4,551.64    |
|                  |               |                |               |             |             |           | Entity Total  | l:                | \$4,551.64    |
|                  |               |                |               |             |             |           | Adjustmen     | t:                | \$0.00        |

# Haakon

| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge  | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount     |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|-------------------|
| 6/2019           | 1,077         | 1,351          | 5             | 2,433       | \$3,041.25 | \$60.97   | \$2,980.28    | 0.70              | \$2,086.20        |
|                  |               |                |               |             |            |           | Futite Tatal  | _                 | ¢2.000.20         |
|                  |               |                |               |             |            |           | Entity Total  |                   | \$2,086.20        |
|                  |               |                |               |             |            |           | Adjustment    |                   | \$0.00            |
|                  |               |                |               |             |            |           | Total Amou    | nt:               | \$2,086.20        |
| Hamlin           |               |                |               |             |            |           |               |                   |                   |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge  | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount     |
| 6/2019           | 1,656         | 3,507          | 65            | 5,228       | \$6,535.00 | \$131.98  | \$6,403.02    | 0.70              | \$4,482.11        |
|                  |               |                |               |             |            |           | Entity Total  | :                 | \$4,482.11        |
|                  |               |                |               |             |            |           | Adjustment    | :                 | \$0.00            |
|                  |               |                |               |             |            |           | Total Amou    | nt:               | \$4,482.11        |
| Hand             |               |                |               |             |            |           |               |                   |                   |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge  | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount     |
| 6/2019           | 1,128         | 2,601          | 13            | 3,742       | \$4,677.50 | \$103.49  | \$4,574.01    | 0.70              | \$3,201.81        |
|                  |               |                |               |             |            |           | Entity Total  | :                 | \$3,201.81        |
|                  |               |                |               |             |            |           | Adjustment    |                   | \$0.00            |
|                  |               |                |               |             |            |           | Total Amou    | nt:               | \$3,201.81        |
| Hanson           |               |                |               |             |            |           |               |                   |                   |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge  | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount     |
| 6/2019           | 948           | 3,003          | 23            | 3,974       | \$4,967.50 | \$103.38  | \$4,864.12    | 0.70              | \$3,404.88        |
|                  |               |                |               |             |            |           | Entity Total  | <u>:</u>          | \$3,404.88        |
|                  |               |                |               |             |            |           | Adjustment    |                   | \$0.00            |
|                  |               |                |               |             |            |           | Total Amou    |                   | \$3,404.88        |
| Harding          |               |                |               |             |            |           | . 3           |                   | <del>+-,.••</del> |
|                  |               |                | ,             |             |            |           | N . 6         |                   |                   |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge  | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount     |
| 6/2019           | 707           | 843            | 1             | 1,551       | \$1,938.75 | \$49.06   | \$1,889.69    | 0.70              | \$1,322.78        |

|                  |               |                |               |             |             |           | Entity Total  | :                 | \$1,322.78    |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
|                  |               |                |               |             |             |           | Adjustment    | t:                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | ınt:              | \$1,322.78    |
| Hughes           |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 4,432         | 13,979         | 182           | 18,593      | \$23,241.25 | \$525.36  | \$22,715.89   | 0.70              | \$15,901.12   |
|                  |               |                |               |             |             |           | Entity Total  | l:                | \$15,901.12   |
|                  |               |                |               |             |             |           | Adjustment    | t:                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | ınt:              | \$15,901.12   |
| Hutchinson       |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 3,060         | 4,998          | 51            | 8,109       | \$10,136.25 | \$221.07  | \$9,915.18    | 0.70              | \$6,940.63    |
|                  |               |                |               |             |             |           | Entity Total  | l:                | \$6,940.63    |
|                  |               |                |               |             |             |           | Adjustment    | t:                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | ınt:              | \$6,940.63    |
| Hyde             |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 656           | 1,041          | 5             | 1,702       | \$2,127.50  | \$42.97   | \$2,084.53    | 0.70              | \$1,459.17    |
|                  |               |                |               |             |             |           | Entity Total  | l:                | \$1,459.17    |
|                  |               |                |               |             |             |           | Adjustment    | <b>::</b>         | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | ınt:              | \$1,459.17    |
| Jackson          |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 692           | 812            | 4             | 1,508       | \$1,885.00  | \$38.25   | \$1,846.75    | 0.70              | \$1,292.73    |
|                  |               |                |               |             |             |           | Entity Total  | l:                | \$1,292.73    |
|                  |               |                |               |             |             |           | Adjustment    | <b>::</b>         | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | ınt:              | \$1,292.73    |
| Jerauld          |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |

| 6/2019           | 870           | 1,191          | 5             | 2,066       | \$2,582.50  | \$53.43   | \$2,529.07    | 0.70              | \$1,770.35    |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
|                  |               |                |               |             |             |           | Entity Total: | :                 | \$1,770.35    |
|                  |               |                |               |             |             |           | Adjustment    | :                 | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | nt:               | \$1,770.35    |
| Jones            |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 591           | 662            | 3             | 1,256       | \$1,570.00  | \$31.50   | \$1,538.50    | 0.70              | \$1,076.95    |
|                  |               |                |               |             |             |           | Entity Total: | :                 | \$1,076.95    |
|                  |               |                |               |             |             |           | Adjustment    | :                 | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | nt:               | \$1,076.95    |
| Kingsbury        |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 919           | 3,827          | 467           | 5,213       | \$6,516.25  | \$133.27  | \$6,382.98    | 0.70              | \$4,468.09    |
|                  |               |                |               |             |             |           | Entity Total: | :                 | \$4,468.09    |
|                  |               |                |               |             |             |           | Adjustment    | :                 | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | nt:               | \$4,468.09    |
| Lake             |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 2,785         | 9,081          | 67            | 11,933      | \$14,916.25 | \$312.17  | \$14,604.08   | 0.70              | \$10,222.86   |
|                  |               |                |               |             |             |           | Entity Total: | <u>:</u>          | \$10,222.86   |
|                  |               |                |               |             |             |           | Adjustment    | :                 | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | nt:               | \$10,222.86   |
| Lawrence         |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 8,040         | 16,229         | 151           | 24,420      | \$30,525.00 | \$626.12  | \$29,898.88   | 0.70              | \$20,929.22   |
|                  |               |                |               |             |             |           | Entity Total: | :                 | \$20,929.22   |
|                  |               |                |               |             |             |           | Adjustment    | :                 | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | nt:               | \$20,929.22   |
| Lincoln          |               |                |               |             |             |           |               |                   |               |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 6/2019           | 4,181         | 22,658         | 1,758         | 28,597      | \$35,746.25 | \$788.85  | \$34,957.40   | 0.70              | \$24,470.18   |
|                  |               |                |               |             |             |           | Entity Total  | :                 | \$24,470.18   |
|                  |               |                |               |             |             |           | Adjustment    | ::                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | ınt:              | \$24,470.18   |
| Lyman            |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 1,151         | 1,723          | 111           | 2,985       | \$3,731.25  | \$83.74   | \$3,647.51    | 0.70              | \$2,553.26    |
|                  |               |                |               |             |             |           | Entity Total  | <b>:</b>          | \$2,553.26    |
|                  |               |                |               |             |             |           | Adjustment    | <b>::</b>         | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | ınt:              | \$2,553.26    |
| Marshall         |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 1,699         | 2,832          | 9             | 4,540       | \$5,675.00  | \$115.11  | \$5,559.89    | 0.70              | \$3,891.92    |
|                  |               |                |               |             |             |           | Entity Total  | <b>:</b>          | \$3,891.92    |
|                  |               |                |               |             |             |           | Adjustment    | <b>::</b>         | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | ınt:              | \$3,891.92    |
| <b>McCook</b>    |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 2,315         | 4,192          | 15            | 6,522       | \$8,152.50  | \$166.42  | \$7,986.08    | 0.70              | \$5,590.26    |
|                  |               |                |               |             |             |           | Entity Total  | :                 | \$5,590.26    |
|                  |               |                |               |             |             |           | Adjustment    | <b>::</b>         | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | ınt:              | \$5,590.26    |
| McPherson        |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 1,011         | 1,484          | 4             | 2,499       | \$3,123.75  | \$61.70   | \$3,062.05    | 0.70              | \$2,143.44    |
|                  |               |                |               |             |             |           | Entity Total  | :                 | \$2,143.44    |
|                  |               |                |               |             |             |           |               |                   |               |
|                  |               |                |               |             |             |           | Adjustment    | t:                | \$0.00        |

| М   |    | ٨ | _ |
|-----|----|---|---|
| IVI | еи | О | e |

| Moddo            |               |                |               |             |              |            |               |                   |               |  |
|------------------|---------------|----------------|---------------|-------------|--------------|------------|---------------|-------------------|---------------|--|
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge    | Admin Fee  | Net Surcharge | Entity<br>Percent | Entity Amount |  |
| 6/2019           | 3,737         | 17,416         | 233           | 21,386      | \$26,732.50  | \$573.59   | \$26,158.91   | 0.70              | \$18,311.24   |  |
|                  |               |                |               |             |              |            | Entity Tota   | l:                | \$18,311.24   |  |
|                  |               |                |               |             |              |            | Adjustmen     | t:                | \$0.00        |  |
|                  |               |                |               |             |              |            | Total Amor    | unt:              | \$18,311.24   |  |
| Mellette         |               |                |               |             |              |            |               |                   |               |  |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge    | Admin Fee  | Net Surcharge | Entity<br>Percent | Entity Amount |  |
| 6/2019           | 618           | 672            | 0             | 1,290       | \$1,612.50   | \$32.26    | \$1,580.24    | 0.70              | \$1,106.17    |  |
|                  |               |                |               |             |              |            | Entity Tota   | l:                | \$1,106.17    |  |
|                  |               |                |               |             |              |            | Adjustmen     | t:                | \$0.00        |  |
|                  |               |                |               |             |              |            | Total Amor    | unt:              | \$1,106.17    |  |
| Miner            |               |                |               |             |              |            |               |                   |               |  |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge    | Admin Fee  | Net Surcharge | Entity<br>Percent | Entity Amount |  |
| 6/2019           | 1,030         | 1,577          | 40            | 2,647       | \$3,308.75   | \$80.92    | \$3,227.83    | 0.70              | \$2,259.48    |  |
|                  |               |                |               |             |              |            | Entity Tota   | l:                | \$2,259.48    |  |
|                  |               |                |               |             |              |            | Adjustmen     | t:                | \$0.00        |  |
|                  |               |                |               |             |              |            | Total Amor    | unt:              | \$2,259.48    |  |
| Minnehaha        |               |                |               |             |              |            |               |                   |               |  |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge    | Admin Fee  | Net Surcharge | Entity<br>Percent | Entity Amount |  |
| 6/2019           | 43,887        | 145,251        | 2,412         | 191,550     | \$239,437.50 | \$5,044.86 | \$234,392.64  | 0.70              | \$164,074.85  |  |
|                  |               |                |               |             |              |            | Entity Tota   | l:                | \$164,074.85  |  |
|                  |               |                |               |             |              |            | Adjustmen     | t:                | \$0.00        |  |
|                  |               |                |               |             |              |            | Total Amor    | unt:              | \$164,074.85  |  |
| Moody            |               |                |               |             |              |            |               |                   |               |  |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge    | Admin Fee  | Net Surcharge | Entity<br>Percent | Entity Amount |  |
| 6/2019           | 1,308         | 4,510          | 183           | 6,001       | \$7,501.25   | \$174.65   | \$7,326.60    | 0.70              | \$5,128.62    |  |
|                  |               |                |               |             |              |            | Entity Tota   | l:                | \$5,128.62    |  |
|                  |               |                |               |             |              |            | Adjustmen     | t:                | \$0.00        |  |
|                  |               |                |               |             |              |            |               |                   |               |  |

| Total Amount: | \$5,128.62 |
|---------------|------------|
|               | ¥-,        |

0.70

\$2,307.54

\$3,296.48

6/2019

| •                |               |                |               |             |              |            |               |                   |               |
|------------------|---------------|----------------|---------------|-------------|--------------|------------|---------------|-------------------|---------------|
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge    | Admin Fee  | Net Surcharge | Entity<br>Percent | Entity Amount |
| 5/2019           | 0             | 0              | 29            | 29          | \$36.25      | \$-10.81   | \$47.06       | 0.70              | \$32.94       |
| 6/2019           | 26,419        | 76,845         | 1,541         | 104,805     | \$131,006.25 | \$2,777.57 | \$128,228.68  | 0.70              | \$89,760.08   |
|                  |               |                |               |             |              |            | Entity Total  | :                 | \$89,793.02   |
|                  |               |                |               |             |              |            | Adjustment    | :                 | \$0.00        |
|                  |               |                |               |             |              |            | Total Amou    | int:              | \$89,793.02   |
| Perkins          |               |                |               |             |              |            |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge    | Admin Fee  | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 1,774         | 2,251          | 6             | 4,031       | \$5,038.75   | \$110.86   | \$4,927.89    | 0.70              | \$3,449.52    |
|                  |               |                |               |             |              |            | Entity Total  | :                 | \$3,449.52    |
|                  |               |                |               |             |              |            | Adjustment    | :                 | \$0.00        |
|                  |               |                |               |             |              |            | Total Amou    | nt:               | \$3,449.52    |
| Potter           |               |                |               |             |              |            |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge    | Admin Fee  | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 1,196         | 1,720          | 7             | 2,923       | \$3,653.75   | \$74.36    | \$3,579.39    | 0.70              | \$2,505.57    |
|                  |               |                |               |             |              |            | Entity Total  | :                 | \$2,505.57    |
|                  |               |                |               |             |              |            | Adjustment    | :                 | \$0.00        |
|                  |               |                |               |             |              |            | Total Amou    | int:              | \$2,505.57    |
| Roberts          |               |                |               |             |              |            |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge    | Admin Fee  | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 3,531         | 4,880          | 16            | 8,427       | \$10,533.75  | \$232.72   | \$10,301.03   | 0.70              | \$7,210.72    |
|                  |               |                |               |             |              |            | Entity Total  | :                 | \$7,210.72    |
|                  |               |                |               |             |              |            | Adjustment    | ::                | \$0.00        |
|                  |               |                |               |             |              |            | Total Amou    | nt:               | \$7,210.72    |
| Sanborn          |               |                |               |             |              |            |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge    | Admin Fee  | Net Surcharge | Entity<br>Percent | Entity Amount |

1,733

167

2,691

\$3,363.75

\$67.27

791

|                  |               |                |               |             |            |           | Adjustment:   |                   | \$0.00        |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
|                  |               |                |               |             |            |           | Total Amou    | Total Amount:     |               |
| Spink            |               |                |               |             |            |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge  | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 2,001         | 4,457          | 16            | 6,474       | \$8,092.50 | \$165.12  | \$7,927.38    | 0.70              | \$5,549.17    |
|                  |               |                |               |             |            |           | Entity Tota   | ıl:               | \$5,549.17    |
|                  |               |                |               |             |            |           | Adjustmen     | t:                | \$0.00        |
|                  |               |                |               |             |            |           | Total Amou    | unt:              | \$5,549.17    |
| Stanley          |               |                |               |             |            |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge  | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 727           | 2,120          | 14            | 2,861       | \$3,576.25 | \$75.64   | \$3,500.61    | 0.70              | \$2,450.43    |
|                  |               |                |               |             |            |           | Entity Tota   | ıl:               | \$2,450.43    |
|                  |               |                |               |             |            |           | Adjustmen     | t:                | \$0.00        |
|                  |               |                |               |             |            |           | Total Amou    | unt:              | \$2,450.43    |
| Sully            |               |                |               |             |            |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge  | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 662           | 1,148          | 4             | 1,814       | \$2,267.50 | \$45.41   | \$2,222.09    | 0.70              | \$1,555.46    |
|                  |               |                |               |             |            |           | Entity Tota   | ıl:               | \$1,555.46    |
|                  |               |                |               |             |            |           | Adjustmen     | t:                | \$0.00        |
|                  |               |                |               |             |            |           | Total Amou    | unt:              | \$1,555.46    |
| Todd             |               |                |               |             |            |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge  | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 0             | 65             | 3             | 68          | \$85.00    | \$9.89    | \$75.11       | 0.70              | \$52.58       |
|                  |               |                |               |             |            |           | Entity Tota   | ıl:               | \$52.58       |
|                  |               |                |               |             |            |           | Adjustmen     | t:                | \$0.00        |
|                  |               |                |               |             |            |           | Total Amou    | unt:              | \$52.58       |
| Tripp            |               |                |               |             |            |           |               |                   |               |

\$2,307.54

**Entity Total:** 

| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 6/2019           | 2,619         | 3,839          | 5             | 6,463       | \$8,078.75  | \$164.09  | \$7,914.66    | 0.70              | \$5,540.26    |
|                  |               |                |               |             |             |           | Entity Total  | l:                | \$5,540.26    |
|                  |               |                |               |             |             |           | Adjustment    | t:                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | ınt:              | \$5,540.26    |
| Turner           |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 2,283         | 6,041          | 19            | 8,343       | \$10,428.75 | \$210.37  | \$10,218.38   | 0.70              | \$7,152.87    |
|                  |               |                |               |             |             |           | Entity Total  | l:                | \$7,152.87    |
|                  |               |                |               |             |             |           | Adjustment    | t:                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | ınt:              | \$7,152.87    |
| Union            |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 3,150         | 10,867         | 586           | 14,603      | \$18,253.75 | \$433.64  | \$17,820.11   | 0.70              | \$12,474.08   |
|                  |               |                |               |             |             |           | Entity Total  | l:                | \$12,474.08   |
|                  |               |                |               |             |             |           | Adjustment    | t:                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | ınt:              | \$12,474.08   |
| Walworth         |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 2,151         | 3,576          | 95            | 5,822       | \$7,277.50  | \$147.40  | \$7,130.10    | 0.70              | \$4,991.07    |
|                  |               |                |               |             |             |           | Entity Total  | l:                | \$4,991.07    |
|                  |               |                |               |             |             |           | Adjustment    | t:                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | ınt:              | \$4,991.07    |
| Yankton          |               |                |               |             |             |           |               |                   |               |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP<br>Lines | Total Lines | Surcharge   | Admin Fee | Net Surcharge | Entity<br>Percent | Entity Amount |
| 6/2019           | 5,352         | 15,533         | 222           | 21,107      | \$26,383.75 | \$541.68  | \$25,842.07   | 0.70              | \$18,089.45   |
|                  |               |                |               |             |             |           | Entity Total  | l:                | \$18,089.45   |
|                  |               |                |               |             |             |           | Adjustment    | t:                | \$0.00        |
|                  |               |                |               |             |             |           | Total Amou    | int:              | \$18,089.45   |
|                  |               |                |               |             |             |           |               |                   |               |

Totals 219,597 581,086 13,861 814,544 \$1,018,180.00 \$21,609.15 \$ 996,570.85